Refer to the exhibit. Which two statements are

Diagram depicts the output of the command ipconfig /all

<output omitted>

Physical address 00-50-8D-F1-EA-8B

Dhcp enabled yes

Autoconfiguration enabled yes

IP address 192.168.1.100

Subnet mask 255.255.255.0

Default gateway 192.168.1.1

DHCP server 192.168.1.1

DNS servers 68.87.64.196

68.87.66.196

Lease obtained Tuesday June 14, 2005 5:28:57 PM

Lease expires Wednesday, June 15, 2005 5:28:57 PM

Refer to the exhibit. The small office LAN shown in the exhibit

Diagram depicts 4 workstations connected to a Hub.

Refer to the exhibit. Which devices are recommended

Diagram depicts the following servers/workstations connected to a switch.

PC1

PC2

DHCP server

Web Server

Email Server

Refer to the exhibit. Based on the information shown

Diagram shows the output of the arp-a command

Interface: 192.168.1.94 ---0x2

Internet address physical address type

192.168.1.97 00-06-25-25-6e-5d dynamic

192.168.1.254 00-60-0f-2e-14-c6

Refer to the exhibit. The small office LAN shown in the exhibit

Refer to the exhibit. Host A pings host B.

Diagram depicts a network consisting of 2 hosts, 2 hubs and 2 routers.

Host A (192.168.10.34/27 Mac BBBB.3333.5677 connects to a hub, which in turn connects to router R4 on port IP 192.168.10.33/27 Mac 9999.DADC.1234.

R4 (IP 192.168.10.65/27) connects to R5 (IP 192.168.10.66/27)

R5 (port IP 192.168.10.129/27, mac 5555.AAAA.6666) connects to the second hub. The second hub connects to host B (Ip 192.168.10.134/27 mac DDDD.4444.1357)

Host A is connected to the LAN,

Diagram depicts a host (A), switch1, router1 and an ISP. Host A has the IP address 198.18.166.65

Subnet mask 255.255.255.240

Gateway 198.18.166.33

Host a connects to the switch, which in turn connects to the router with IP address 198.18.166.33/27.

The router connects to the ISP via a serial connection, IP address 192.0.2.179/27.

Refer to the exhibit. The network administrator has assigned

Diagram depicts a network consisting of 4 hosts, a server, a switch, a router and an ISP (cloud). The four hosts and the server are connected to the switch. The switch connects to the router (called LBMISS). The router connects to the ISP.

Refer to the exhibit. A technician is planning an addressing scheme

Diagram depicts a workstation (A) connected to a router, which in turn connects to a server. Network configuration is below.

Host A

IP 192.168.200.66

Subnet mask 255.255.255.192

Default gateway 192.168.200.65

Router

Connection to host A IP address 192.168.200.65/26

Connection to server  IP address 192.168.200.126/26

Server IP address 192.168.200.129/26

Refer to the exhibit. After host 2 is connected

Diagram depicts 2 hosts (1 & 2 ) a switch, a router and an ISP (cloud)

Host 1 IP 192.168.2.34/27

Host 2 IP 192.168.3.35/27

Both connect to the switch

Switch connects to the router port (IP 192.168.2.33/27)

Router then connects to the ISP, no IP given.

Refer to the exhibit. A network administrator is planning the addressing scheme for the LAN using

Diagram depicts 25 hosts connected to a switch. The switch connects to the router, router connects to ISP.

Refer to the exhibit. A newly hired technician is testing the connectivity of all hosts by issuing a ping command.

Diagram depicts 5 hosts connected to a hub.

